
   

126  

÷ 7 

2/3 of it 

x 8 

+ 19 

3/5 of it 

x 10  

+ 30 

1/6 of this 

5 % of this 

Answer = 

Bit more to it 

90  

Half of this 

Minus 5 

÷ 8 

Times itself 

+ 2 

÷ 3  

Times itself 

- 9 

÷ 9 

Answer = 

Nice and easy 

45  

+ 19 

62 ½ % of this 

x 3 ¾ 

5 % of this 

x 6  

Double it 

Less 10 % 

4/9 of this 

x 3 ¼ 

Answer = 

Challenging 

Do NOT use a calculator!  



90 

90 ÷ 2 = 45 

45 – 5 = 40 

40 ÷ 8 = 5 

5 x 5 = 25 

25 + 2 = 27 

27 ÷ 3 = 9 

9 x 9 = 81 

81 – 9 = 72 

72 ÷ 9 = 8 

Answer = 8 

Nice and easy 

126 

126 ÷ 7 = 18 

(2/3) x 18 = 12 

12 x 8 = 96 

96 + 19 = 115 

(3/5) x 115 = 69 

69 x 10 = 690 

690 + 30 = 720 

720 ÷ 6 = 120 

0.05 x 120 = 6 

Answer = 6 

Bit more to it 

45 

45 + 19 = 64 

0.625 x 64 = 40 

40 x 3 ¾ = 150 

0.05 x 150 = 7.5 

7.5 x 6 = 45 

45 x 2 = 90 

90 - 0.1 x 90 = 90 
– 9 = 81 

(4/9) x 81 = 36 

36 x 3 ¼ = 117 

Answer = 117 

Challenging 


